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~® Thereisa 'Cool off time' of 15 minutes in addition to the writing time of 2 hrs.

® You are neither allowed to write yOur answers nor to dxsbuss anything with
others during the 'cool off time'.

® Use the 'cool off time' to get familiar with questions and to plan your answers
& Read the questions carefully before aﬁswering. '
@ All questions are compulsory and only internal choice is allowed.
® When you select a question, all the sub-questions must be answered from the
+ same question itself.
@ Calculations, figures and graphs should be shown in the answer sheet ltself
® Malavalam version of the quesnons is also nrov1ded
® (iive equations Wherever necessary.
& FKlectronic devices except nonprogrammable calcu}ators are not allowed in the
Examination Hall.
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1. Hydrogen combines with o‘xygen to

form two different compounds,
namely, water (HéO) and hydrogen
peroxide (H,0,).
a) Which law is obeyed by this
combination?
b) State the law.
¢) How many significént figures
are present in the following?
) 0.0025
ii) 285

2. a) Write the  subshellwise
electronic configurations of the

following elements :
i) Cu (Z=29)
1) Cr (Z=24)

Give reason for the extra

stability of these atoms.

b) Canal rays were discovered by

‘discharge tube experiments
" conducted in a modified cathode
ray tube. Give any two

characteristics of canal rays,

c) A microscope with suitable
photons is employed to locate
an electron in an atom within a

distance of 0.4A. What is the
uncertainty involved in the

measurement of its velocity?
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1) Cu(Z=29).

i1) Cr (Z=24)
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b)

‘b)’

a)

Transition elements were

placed in between group 3 and

group 12 of the periodic table. -

Give any two characteristics of

transition elements.

Does the lonization enthalpy
decrease along a group? Give

reason.

Molecular orbitals are formed

by the linear combination of

atomic orbitals (LCAQ). Give the

salient features of the molecular

orbital theory.

Explain sp®d hybridization with

a suitable example.
OR

The shapes of the molecules-is

~ based on the VSEPR theory.

b)
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Give the salient features of this

theory.

Draw the poténtial energy éurve
for the formation of a hydrogen
molecule on the basis of the

internuclear distance of the

hydrogen atoms.
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b)
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Y AG

-a

Pressure ( p)

Name the gas law shown by the

above graphg
State the gas law.

At 35°C and 700 mm of Hg
pressure, 2. gas occ_:upieé a 500 ml
volume. What will be its
pressure when the temperature
is 15°C and the volume of the gas

is 450 ml?

gives a criteria for

spontaneity of reactions at a
and

constant pressure .

temperature. How is AG helpful

in predicting the spontaneity of

the reaction?

State and explain Hess's law of

constant heat summation.
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Le-Chatelier's principle makes a

qualitative prediction about the

change n conditions on

equilibrium.

&) State Le-Chatelier's principle.

» effect of pressure on

the above eguilibrium?

¢) The species
an act both as Bronsted acids
Write the
corresponding Confugate acid

nd conjugate base of the above

a) Using stock notation, represent
the following compounds :

1 HAuCl,

4

i) MnO,

Define: the electronic
cencept of oxidation and

reduction.

i1} Find out the oxidizer and
reducer in the following
reaction ¢h the basis of the
electronic concept.

2‘7 /v +C’
Aa\s). i

1(g)— 2NaCl
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9. a) Give one reaction supporting 9. a) zeiewlo) ERoeandestle; MEdA

the amphoteric nature of water. (2) O MIWIHEHOIT™ aBO@Bao
&0} POMEIAR@DMo af)PI®)bs.
" Nri t ‘ «

b) Write the names of any twc? b) agoomlee o sousiasoad dlaf
electron-rich hydrides. (1) 60a0ONAUIERINS BalOOLIMIb:.
¢) Complete the following reaction C) ®OOYOHHISIAHITBOIM  BOMVAIQID

Heating @omo al)R@ledlanss.
Ca(HCO,), ——2, .. -
732 Ca(HCO ) 2 SOBOM
....... +H,0+........ 1) 3/2
....... +H,O+........

10. a) The reactivity of alkali metals 10. a) ep@eeel eavaamaens uowial
towards air is different for eNes MOM(aICUBEMMo  QUY®INV'®
different metals. How do alkali | GRI0a0BAES ymyMI®, dlallaieosr.
metals react with air? (2) Qg)EBOMWIEN @R@H6EN BeI0a0RM

ool laldEElea) M.
b) Match the following : @) b) eaitpaldl c2lbeoe:
A B
i)  Sodium hydroxide p) Dead burnt plaster
| 8OO EOGOEWIBHHIVUS e anlsmg gloavgd
il) Anhydrous calcium sulphate qQ Slaked lime
| @RADOOOIWTY &0V MBCRDF MGRIBHA 66)elo
iii) Calcium hydroxide r) Quick lime
' cegom%nv(gé @énoczmm@:ae)cn)aﬁ Hflo6) Ooelo
iv)  Sodium bicarbonate s)  Caustic soda
evolwo OeMI:0deIcEmE SOl BLOAL
t)  Baking soda
GENIHEN6TS Gruoaw
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11. Give reasons for the following :

12.

a)

b)

CO, is a gas whereas Si10, 1s a

solid.

CCl, cannot be hydrolyzed but
SiCl, can be hydrolysed.

Borax bead test can be used to

- identify metaborates in the

d)

laboratory.

Graphite is used as a lubricant

 in machines.

a)

b)

d)

KR-25

Give the IUPAC names of the

following compounds.
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i)  CH,-CH,-CH-CH,~CH,CH-CH,-CH,

y
OH

ii)

How many 'c'and '~ 'bonds are

present in the following
compbund?

CH, =C =CHCH,

Write the name of the test used

to detect nitrogen, sulphur,

halogens and phosphorous

. present in an organic compound.

Explain any one¢ method for the
estimation of nitrogen présent

in an organic compound.

)

(1)

2)

CH,

b)

c)

d)

CH, - CH, - CH = CH - CH, - COOH
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13. a)

© i) CaC,+2H,0 — Ca(OH), +.....

9

o0
e

Draw ?:he Cis- and trans-

isomers of the. following

compound :
C,H,CCH, = CCH,C,H,.

Complete

the following
veactions.
D SCH _CH Red hot iron tube ,
. 873K -

Draw the sawhorse projections
for eclipsed and staggered forms

of a éthane molecule.
"OR

How is alkane prepared by

Kolbe's electrolytic method?

¢)

14. a)

b)

KR-25

i) -NH,

Select the activating groups

from the following :
i) =SOH

iii) ~CH, iv) —COOH

What is ozonolysis? Write the -

names of the pfroduéts obtained

when propene undergoes
ozonolysis.

Carbon monoxide is one of the
most serious air pollutants.
How does it - pollute the
atmésphere?

Give any two applications of
green chemistry in day-to-day

life.
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